P8cents

2P8centsl1 200

P12cents

3P1 2cents/1900

Conversion Formula: P8cents to P12cents

3P120ents/1900 — 2P80ents/1 200

P12cents/1900 x logs(3) = P8cents/1200 x logs(2)
P12cents/1900 = P8cents/1200 x logs(2)

P12cents = 1900 x P8cents/1200 x logs(2)

P12cents = 19/12 x logs(2) x P8cents

Conversion Formula: P12cents to P8cents

P8cents/1200 — 2 P12cents/1900
2 =3

P8cents/1200 x log2(2) = P12cents/1900 x logz(3)
P8cents/1200 = P12cents/1900 x logz(3)

P8cents = 1200 x P12cents/1900 x logz(3)

P8cents = 12/19 x logz(3) x P12cents



